

# GENERALIZED HYPERGEOMETRIC FUNCTION AND HEAT PRODUCTION IN A SEMI-INFINITE CYLINDER

by C. L. KAUL, *Department of Mathematics, M.R. Engineering College, Jaipur*

(Communicated by P. L. Bhatnagar, F.N.A.)

(Received 9 February 1971)

In this paper the author evaluates an integral involving the product of generalized hypergeometric function and Fox's  $H$ -function. Then a problem of heat conduction in a semi-infinite circular cylinder when there are sources of heat within the cylinder is solved. Lastly, by making use of the integral evaluated earlier, the solution of the problem by taking heat source as product of exponential function and a generalized hypergeometric function is obtained.

On account of the general nature of the boundary conditions and heat source considered, the solution of the problem of heat conduction yields many useful and interesting cases. Also the integral evaluated is quite general and is capable of giving a number of new and interesting integrals as its special cases.

## 1. INTRODUCTION

The solution of the heat equation

$$\frac{\partial \theta}{\partial t} = k \left( \frac{\partial^2 \theta}{\partial r^2} + \frac{1}{r} \frac{\partial \theta}{\partial r} \right) + \phi(r, t) \quad \dots \quad (1.1)$$

under the following boundary and initial conditions

$$\begin{aligned} \theta &= 0 \text{ when } r = a, t > 0 \\ \theta &= 0 \text{ when } t = 0, 0 < r \leq a \end{aligned}$$

has been recently obtained by many authors by taking the heat source  $\phi(r, t)$  in terms of various special functions. Bhonsle (1966), for example, studied the use of the Jacobi polynomials; Bajpai (1968, 1969) the Meijer's  $G$ -function and the associated Legendre functions while Sharma (1969) Fox's  $H$ -function.

The aim of this paper is to solve the following problem of heat conduction in a semi-infinite circular cylinder of radius  $a$  bounded by the plane  $z = 0$  and the cylindrical surface  $r = a$ :

$$\frac{\partial \theta}{\partial t} = k \left( \frac{\partial^2 \theta}{\partial r^2} + \frac{1}{r} \frac{\partial \theta}{\partial r} + \frac{\partial^2 \theta}{\partial z^2} \right) + \phi(r, z, t) \quad \dots \quad (1.2)$$

$$\theta = \theta_0, \text{ a constant, } z = 0, 0 < r \leq a, t > 0 \quad \dots \quad (1.3)$$

$$\theta = g(z, t), \quad r = a, z > 0, t > 0 \quad \dots \quad (1.4)$$

$$\theta(r, z, 0) = f(r, z), \quad 0 < r \leq a, z > 0 \quad \dots \quad (1.5)$$

the functions  $g(z, t)$  and  $f(r, z)$  being given. -

We further suppose that

$$\left. \begin{aligned} \phi(r, z, t) &= k/K \cdot \phi_1(r) \cdot \phi_2(z) \cdot \phi_3(t) \\ g(z, t) &= g_1(z) \cdot g_2(t) \\ f(r, z) &= f_1(r) \cdot f_2(z) \end{aligned} \right\} \dots \dots \dots (1.6)$$

where  $k$  is the diffusivity and  $K$  the conductivity of the material.

In this paper we consider a set of values of these functions and in particular take

$$\phi_1(r) = r^{\sigma-2} \left(1 - \frac{r}{a}\right)^{\rho-1} {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; 1 - \frac{r}{a} \right)$$

where  ${}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; x \right)$  is the generalized hypergeometric function defined as

$${}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; x \right) = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_n}{\prod_{j=1}^s (d_j)_n} \cdot \frac{x^n}{n!} \dots \dots (1.7)$$

The series in (1.7) is absolutely convergent for  $h < s+1$  or  $h = s+1, |x| \leq 1$ ,  $\text{Re} \left( \sum_{j=1}^s d_j - \sum_{j=1}^h c_j \right) > 0$  and none of  $d_j$  is a negative integer or zero. The heat source of this character may encompass several cases of interest due to the general nature of the function  ${}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; x \right)$ .

In section 2, we establish an integral involving the product of Fox's  $H$ -function and the generalized hypergeometric function. This integral is required for our subsequent work in this paper.

### 2. THE INTEGRAL

The  $H$ -function of Fox (1961) is defined and represented as:

$$\begin{aligned} &H_{p,q}^{m,n} \left[ x \left| \begin{matrix} (a_1, \alpha_1), \dots, (a_p, \alpha_p) \\ (b_1, \beta_1), \dots, (b_q, \beta_q) \end{matrix} \right. \right] \\ &= \frac{1}{2\pi i} \int_C \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j \xi)}{\prod_{j=m+1}^q \Gamma(1 - b_j + \beta_j \xi)} \cdot \frac{\prod_{j=1}^n \Gamma(1 - a_j + \alpha_j \xi)}{\prod_{j=n+1}^p \Gamma(a_j - \alpha_j \xi)} \cdot x^\xi d\xi \dots (2.1) \end{aligned}$$

where an empty product is interpreted as unity;  $0 \leq m \leq q, 0 \leq n \leq p$  and  $\alpha_j$  ( $j = 1, \dots, p$ ) and  $\beta_h$  ( $h = 1, \dots, q$ ) are positive numbers. The poles of the integrand are simple. The contour  $C$  is a straight line parallel to the imaginary axis such that the poles of  $\Gamma(b_j - \beta_j \xi)$  ( $j = 1, \dots, m$ ) lie to its right and those of  $\Gamma(1 - a_j + \alpha_j \xi)$  ( $j = 1, \dots, n$ ) lie to its left. When  $\alpha_i = \beta_j = 1$  ( $i = 1, \dots, p; j = 1, \dots, q$ ), the  $H$ -function reduces to Meijer's  $G$ -function (Erdélyi 1953).

Braaksma (1963) has obtained the conditions of convergence of the integral (2.1) and the asymptotic expansions of the  $H$ -function.

In this paper  $(a_p)$  will stand for  $a_1, \dots, a_p$ ;  $\{(a_p, \alpha_p)\}$  for  $(a_1, \alpha_1), \dots, (a_p, \alpha_p)$ ;  $\Delta(k, \alpha)$  for  $\alpha/k, (\alpha+1)/k, \dots, (\alpha+k-1)/k$ ;  $\{\Delta(k, \alpha), \beta\}$  for  $(\alpha/k, \beta), ((\alpha+1)/k, \beta), \dots, ((\alpha+k-1)/k, \beta)$  and  $(a)_m$  for  $\Gamma(a+m)/\Gamma(a)$ .

Here we establish the following integral:

$$\int_0^1 x^{\rho-1} (1-x)^{\sigma-1} \cdot {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; ax^k \right) \times H_{p,q}^{m,n} \left[ z(1-x)^\lambda \left\{ \begin{matrix} (a_p, \alpha_p) \\ (b_q, \beta_q) \end{matrix} \right\} \right] dx = \Gamma(\rho) \cdot \sum_{\nu=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_\nu}{\prod_{j=1}^s (d_j)_\nu} \cdot \frac{a^\nu}{V!} \cdot \prod_{j=1}^k \left( \frac{\rho+j-1}{k} \right)_\nu \times H_{p+k+1, q+k+1}^{m, n+k+1} \left[ z \left\{ \begin{matrix} \left\{ \Delta(k, 1-\rho-\sigma), \frac{\lambda}{k} \right\}, (1-\sigma, \lambda), \{(a_p, \alpha_p)\} \\ \{(b_q, \beta_q)\}, (1-\rho-\sigma, \lambda), \left\{ \Delta(k, 1-\rho-\sigma-kV), \frac{\lambda}{k} \right\} \end{matrix} \right. \right] \quad (2.2)$$

where  $\text{Re}(\rho) > 0, \text{Re}(\sigma) > 0, k$  is a positive integer;  $\lambda > 0, A \equiv \sum_{j=1}^n (\alpha_j) + \sum_{j=1}^m (\beta_j) - \sum_{j=n+1}^p (\alpha_j) - \sum_{j=m+1}^q (\beta_j) > 0, |\arg. z| < 1/2A\pi$  and  $\text{Re} \left( \sigma + \lambda \frac{b_j}{\beta_j} \right) > 0$  ( $j = 1, \dots, m$ ).

PROOF: To establish (2.2), we substitute the value of the  $H$ -function from (2.1) in the integrand of (2.2), interchange the order of integration which is justified under the conditions stated (due to the absolute convergence of the integrals involved in the process) and get

$$\frac{1}{2\pi i} \int_C \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j \xi)}{\prod_{j=m+1}^q \Gamma(1 - b_j + \beta_j \xi)} \cdot \frac{\prod_{j=1}^n \Gamma(1 - a_j + \alpha_j \xi)}{\prod_{j=n+1}^p \Gamma(a_j - \alpha_j \xi)} \cdot z^\xi d\xi \times \left( \int_0^1 x^{\rho-1} (1-x)^{\sigma+\lambda\xi-1} \cdot {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; ax^k \right) dx \right).$$

On evaluating the  $x$ -integral with the help of Rainville's (1963) result, expressing  ${}_hF_s(x)$  in terms of an infinite series as defined in (1.7), interchanging the order of integration and summation (which is permissible under

the stated conditions) and interpreting the result with the help of (2.1), the desired result is established.

*Corollary*—On taking  $a = k = \alpha_i = \beta_j = 1$  ( $i = 1, \dots, p, j = 1, \dots, q$ ) in (2.2), we get the following integral:

$$\int_0^1 x^{\rho-1}(1-x)^{\sigma-1} {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; x \right) G_{p,q}^{m,n} \left[ z(1-x)^\lambda \left| \begin{matrix} (a_p) \\ (b_q) \end{matrix} \right. \right] dx$$

$$= \sum_{V=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_V}{\prod_{j=1}^s (d_j)_V} \cdot \frac{\Gamma(\rho+V)}{V!} \cdot \frac{1}{\lambda^{\rho+V}}$$

$$\times G_{p+\lambda, q+\lambda}^{m, n+\lambda} \left[ z \left| \begin{matrix} \Delta(\lambda, 1-\sigma), (a_p) \\ (b_q), \Delta(\lambda, 1-\rho-\sigma-V) \end{matrix} \right. \right] \quad \dots \quad (2.3)$$

where  $\text{Re}(\rho) > 0, \text{Re}(\sigma) > 0, \lambda$  is a positive integer,  $\text{Re}(\sigma + \lambda b_j) > 0$  ( $j = 1, 2, \dots, m$ ),  $\delta = (m+n) - 1/2(p+q) > 0$ , and  $|\arg. z| < \pi\delta$ .

It may be remarked here that in case  $|\arg. z| = \delta\pi, \delta \geq 0$ , the integral in (2.3) is valid if the following conditions are satisfied (Luke 1969):

(i)  $\text{Re}(\rho) > 0, \text{Re}(\sigma) > 0, \lambda$  is a positive integer,  $\text{Re}(\sigma + \lambda b_j) > 0$ , and

(ii)  $\text{Re} \left( \sum_{j=1}^p a_j - \sum_{j=1}^q b_j \right) > 1$  when  $p = q$ ; and when  $p \neq q$ , if with

$\xi = \mu + i\tau, \mu$  and  $\tau$  real,  $\mu$  is chosen so that for  $\sigma \rightarrow \pm\infty$ ,

$$(q-p)\mu > \text{Re} \left( \sum_{j=1}^q b_j - \sum_{j=1}^p a_j \right) + 1 - 1/2(q-p).$$

### 3. FOURIER SINE AND FINITE HANKEL TRANSFORMS

Let the Fourier sine transform of  $\theta(r, z, t)$  be

$$\bar{\theta}(r, \xi, t) = \int_0^\infty \theta(r, z, t) \sin \xi z dz, \quad \xi > 0. \quad \dots \quad (3.1)$$

Then, we have (Erdélyi 1954a)

$$\theta(r, z, t) = \frac{2}{\pi} \int_0^\infty \bar{\theta}(r, \xi, t) \sin \xi z d\xi, \quad z > 0. \quad \dots \quad (3.2)$$

Also, let the finite Hankel transform of  $u(r)$  be (Sneddon 1951)

$$J[u(r); \eta_i] = \int_0^a r J_0(\eta_i r) u(r) dr = \bar{u}(\eta_i). \quad \dots \quad (3.3)$$

Then, on taking  $m = 1, n = 0 = p, q = 2, b_1 = b_2 = 0, \lambda = 2, x = 1 - r/a$  and  $z = 1/4 a^2 \eta_i^2$  in (2.3) and using Erdélyi (1954b), we obtain:

$$\begin{aligned}
 & J \left[ r^{\sigma-2} \left(1 - \frac{r}{a}\right)^{\rho-1} {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; 1 - \frac{r}{a} \right); \eta_i \right] \\
 &= a^\sigma \cdot \sum_{V=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_V}{\prod_{j=1}^s (d_j)_V} \cdot \frac{\Gamma(\rho+V)\Gamma(\sigma)}{\Gamma(\rho+V+\sigma)} \cdot \frac{1}{V!} \\
 & \times {}_2F_3 \left( \begin{matrix} \frac{\sigma}{2}, & \frac{1+\sigma}{2} \\ 1, & \frac{\rho+\sigma+V}{2}, & \frac{1+\rho+\sigma+V}{2} \end{matrix}; -\frac{1}{4}a^2\eta_i^2 \right) \dots \dots (3.4)
 \end{aligned}$$

where  $\text{Re}(\rho) > 0, \text{Re}(\sigma) > 0$  and  $\eta_i$  is a root of the transcendental equation

$$J_0(a\eta_i) = 0. \dots \dots \dots (3.5)$$

Because of the inversion theorem (Sneddon 1951), we have:

$$\begin{aligned}
 & r^{\sigma-2} \left(1 - \frac{r}{a}\right)^{\rho-1} {}_hF_s \left( \begin{matrix} c_1, \dots, c_h \\ d_1, \dots, d_s \end{matrix}; 1 - \frac{r}{a} \right) \\
 &= 2a^{\sigma-2} \Gamma(\sigma) \cdot \sum_i \left[ \sum_{V=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_V}{\prod_{j=1}^s (d_j)_V} \cdot \frac{\Gamma(\rho+V)}{\Gamma(\rho+V+\sigma)} \cdot \frac{1}{V!} \right. \\
 & \left. \times {}_2F_3 \left( \begin{matrix} \frac{\sigma}{2}, & \frac{1+\sigma}{2} \\ 1, & \frac{\rho+\sigma+V}{2}, & \frac{1+\rho+\sigma+V}{2} \end{matrix}; -\frac{1}{4}a^2\eta_i^2 \right) \right] \frac{J_0(r\eta_i)}{[J_1(a\eta_i)]^2} \dots (3.6)
 \end{aligned}$$

where the sum is to be taken over all the positive roots of (3.5).

(3.6) is used later in verifying the solution of the problem mentioned in (1.2) to (1.5).

#### 4. SOLUTION OF THE PROBLEM

To solve (1.2), we first employ the Fourier sine transform  $\bar{\theta}(r, \xi, t)$  defined by (3.1). Then, since  $\theta = \theta_0$  when  $z = 0$ , we find that

$$\int_0^\infty \frac{\partial^2 \theta}{\partial z^2} \sin \xi z \, dz = \xi \theta_0 - \xi^2 \bar{\theta}(r, \xi, t)$$

provided  $\theta$  and  $\partial\theta/\partial z$  both tend to zero as  $z \rightarrow \infty$ , so that on multiplying eqn. (1.1) by  $\sin \xi z$  and integrating with respect to  $z$  between limits  $(0, \infty)$

we obtain the partial differential equation

$$\frac{\partial \bar{\theta}}{\partial t} = k \left( \frac{\partial^2 \bar{\theta}}{\partial r^2} + \frac{1}{r} \frac{\partial \bar{\theta}}{\partial r} + \xi \theta_0 - \xi^2 \bar{\theta} \right) + \bar{\phi}(r, \xi, t),$$

$$0 \leq r \leq a, t > 0 \quad \dots \dots \dots \dots \quad (4.1)$$

for the function  $\bar{\theta}(r, \xi, t)$ , where

$$\bar{\phi}(r, \xi, t) = \int_0^\infty \phi(r, z, t) \sin \xi z \, dz. \quad \dots \dots \dots \dots \quad (4.2)$$

We now employ the finite Hankel transform  $\bar{\bar{\theta}}(\eta_i, \xi, t)$  of  $\bar{\theta}(r, \xi, t)$  defined in (3.3), to transform eqn. (4.1) to an ordinary differential equation.

Then, since  $\bar{\theta}(a, \xi, t) = \int_0^a g(z, t) \sin \xi z \, dz = \bar{g}(\xi, t)$ , and

$$\int_0^a r \left( \frac{\partial^2 \bar{\theta}}{\partial r^2} + \frac{1}{r} \frac{\partial \bar{\theta}}{\partial r} \right) J_0(r\eta_i) \, dr = \eta_i a J_1(\eta_i a) \bar{g}(\xi, t) - \eta_i^2 \bar{\bar{\theta}}$$

on multiplying both sides of eqn. (4.1) by  $r J_0(\eta_i r)$  and integrating over  $r$  between limits  $(0, a)$ , we find that  $\bar{\bar{\theta}}(\eta_i, \xi, t)$  satisfies the first order equation

$$\frac{d \bar{\bar{\theta}}}{dt} + k(\xi^2 + \eta_i^2) \bar{\bar{\theta}} = k a \eta_i J_1(\eta_i a) \bar{g}(\xi, t)$$

$$+ k \xi \cdot \frac{a}{\eta_i} \theta_0 J_1(\eta_i a) + \bar{\bar{\phi}}(\eta_i, \xi, t), \quad t > 0 \quad \dots \dots \dots \dots \quad (4.3)$$

where

$$\bar{\bar{\phi}}(\eta_i, \xi, t) = \int_0^a r J_0(\eta_i r) \bar{\phi}(r, \xi, t) \, dr. \quad \dots \dots \dots \dots \quad (4.4)$$

The solution of (4.3) can easily be shown to be

$$\bar{\bar{\theta}}(\eta_i, \xi, t) = \left\{ k a \eta_i J_1(\eta_i a) \int_0^t \bar{g}(\xi, \tau) e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau \right.$$

$$+ \frac{a \xi \theta_0}{\eta_i} J_1(\eta_i a) \cdot \frac{(1 - e^{-k(\xi^2 + \eta_i^2)t})}{(\xi^2 + \eta_i^2)}$$

$$+ \int_0^t \bar{\bar{\phi}}(\eta_i, \xi, \tau) \cdot e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau$$

$$\left. + F(\eta_i, \xi) e^{-k(\xi^2 + \eta_i^2)t} \right\} \quad \dots \dots \dots \dots \quad (4.5)$$

since from (1.5),  $\theta = f(r, z)$  when  $t = 0$ , so that

$$(\bar{\bar{\theta}})_{t=0} = \int_0^\infty \sin \xi z \, dz \left( \int_0^a r f(r, z) J_0(\eta_i r) \, dr \right) = F(\eta_i, \xi). \quad \dots \dots \dots \dots \quad (4.6)$$

Now, the solution to the boundary value problem can easily be obtained from (4.5) by first inverting it on applying Hankel inversion theorem (Sneddon 1951) and then inverting the resulting equation in  $\bar{\theta}(r, \xi, t)$  by the application

of Fourier inversion theorem mentioned in (3.2). The solution is found to be as given below:

$$\begin{aligned} \theta(r, z, t) = & \frac{4}{a^2\pi} \sum_i \frac{J_0(\eta_i r)}{[J_1(\eta_i a)]^2} \\ & \times \left\{ \frac{a\theta_0}{\eta_i} \cdot J_1(\eta_i a) \int_0^\infty \frac{\xi}{\xi^2 + \eta_i^2} (1 - e^{-k(\xi^2 + \eta_i^2)t}) \sin \xi z \, d\xi \right. \\ & + k a \eta_i J_1(\eta_i a) \int_0^\infty \sin \xi z \, d\xi \left( \int_0^t \bar{g}(\xi, \tau) e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau \right) \\ & + \int_0^\infty \sin \xi z \, d\xi \left( \int_0^t \bar{\phi}(\eta_i, \xi, \tau) e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau \right) \\ & \left. + \int_0^\infty e^{-k(\xi^2 + \eta_i^2)t} F(\eta_i, \xi) \sin \xi z \, d\xi \right\} \dots \dots \dots (4.7) \end{aligned}$$

where the sum is taken over the positive roots of the transcendental equation (3.5).

5. PARTICULAR CASES

*Corollary 1*—If the surfaces  $z = 0$  and  $r = a$  be both kept at zero temperature and there be no heat sources within the cylinder, then our solution given by (4.7) reduces to the case considered by Snnedon (1951).

*Corollary 2*—On taking  $g(z, t) = g_1(z) \cdot g_2(t)$ ,  $f(r, z) = f_1(r) \cdot f_2(z)$  and  $\phi(r, z, t) = \phi_1(r) \cdot \phi_2(z) \cdot \phi_3(t)$  in (4.7) and making use of Erdélyi's (1954a) results therein, it reduces to the following form:

$$\begin{aligned} \theta(r, z, t) = & \frac{4}{a^2\pi} \sum_i \frac{J_0(\eta_i r)}{[J_1(\eta_i a)]^2} \\ & \times \left\{ \frac{a\theta_0}{\eta_i} J_1(\eta_i a) \left[ \frac{\pi}{2} e^{-\eta_i z} - \frac{\pi}{4} e^{-\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} - \frac{z}{2\sqrt{kt}} \right) \right. \right. \\ & \left. \left. + \frac{\pi}{4} e^{\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} + \frac{z}{2\sqrt{kt}} \right) \right] \right. \\ & + k a \eta_i J_1(\eta_i a) \int_0^\infty R(\eta_i, \xi, t) \bar{g}_1(\xi) \sin \xi z \, d\xi \\ & + \bar{\phi}_1(\eta_i) \cdot \int_0^\infty P(\eta_i, \xi, t) \bar{\phi}_2(\xi) \sin \xi z \, d\xi \\ & \left. + \bar{f}_1(\eta_i) \int_0^\infty e^{-k(\xi^2 + \eta_i^2)t} \cdot \bar{f}_2(\xi) \sin \xi z \, d\xi \right\} \dots \dots \dots (5.1) \end{aligned}$$

where

$$R(\eta_i, \xi, t) = \int_0^t g_2(\tau) e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau \dots \dots (5.2)$$

$$P(\eta_i, \xi, t) = \int_0^t \phi_3(\tau) e^{-k(\xi^2 + \eta_i^2)(t-\tau)} \, d\tau \dots \dots (5.3)$$

and the sum is to be taken over the positive roots of (3.5).

6. HEAT SOURCE OF GENERAL CHARACTER

In this section, we obtain the solution of the boundary value problem discussed in cor. 2 above by considering the following set of values of the various functions involved therein.

Let

$$\phi_1(r) = r^{\sigma-2} \left(1 - \frac{r}{a}\right)^{\rho-1} {}_hF_s \left( \begin{matrix} c_1, \dots, c_n \\ d_1, \dots, d_s \end{matrix}; 1 - \frac{r}{a} \right), \quad \sigma \geq 2, \rho \geq 1$$

$$\phi_2(z) = e^{-\mu z}, \mu > 0 \text{ and constant, } \phi_3(t) = \phi_0, \text{ a constant;}$$

$$g_1(z) = ze^{-\frac{1}{2}z^2}, g_2(t) = g_0, \text{ a constant; } f_1(r) = f_0, \text{ a constant and } f_2(z) = ze^{-\frac{1}{2}z^2}.$$

Substituting the values or concerned transforms of these functions in (5.1) and then evaluating the various integrals thus obtained by virtue of Erdélyi (1954a) and (3.4), we finally get the following solution of the boundary value problem referred above:

$$\begin{aligned} \theta(r, z, t) = & \sum_i \frac{J_0(\eta_i r)}{[J_1(\eta_i a)]^2} \\ & \times \left[ \frac{1}{a\eta_i} \theta_0 J_1(\eta_i a) \left\{ 2e^{-\eta_i z} - e^{-\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} - \frac{z}{2\sqrt{kt}} \right) \right. \right. \\ & + e^{\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} + \frac{z}{2\sqrt{kt}} \right) \left. \right\} + \sqrt{\frac{\pi}{2}} \cdot g_0 \cdot \eta_i \cdot \frac{1}{a} J_1(\eta_i a) \\ & \times \left\{ e^{\frac{1}{2}\eta_i^2 - \eta_i z} \operatorname{Erfc} \left( \frac{\eta_i - z}{\sqrt{2}} \right) - e^{\frac{1}{2}\eta_i^2 + \eta_i z} \operatorname{Erfc} \left( \frac{\eta_i + z}{\sqrt{2}} \right) \right. \\ & \left. - e^{\frac{1}{2}\eta_i^2 - \eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt + \frac{1}{2}} - \frac{z}{2\sqrt{kt + \frac{1}{2}}} \right) + e^{\frac{1}{2}\eta_i^2 + \eta_i z} \cdot \operatorname{Erfc} \left( \eta_i \sqrt{kt + \frac{1}{2}} + \frac{z}{2\sqrt{kt + \frac{1}{2}}} \right) \right\} \\ & + \frac{\phi_0 a^{\sigma-2}}{k(\eta_i^2 - \mu^2)} \cdot \left( \sum_{V=0}^{\infty} \frac{\prod_{j=1}^h (c_j)_V}{\prod_{j=1}^s (d_j)_V} \cdot \frac{\Gamma(\rho+V)\Gamma(\sigma)}{\Gamma(\rho+V+\sigma)} \cdot \frac{1}{V!} \cdot {}_2F_3 \left( \begin{matrix} \frac{\sigma}{2}, \frac{1+\sigma}{2} \\ 1, \frac{\rho+\sigma+V}{2}, \frac{1+\rho+\sigma+V}{2} \end{matrix}; -\frac{1}{4}a^2\eta_i^2 \right) \right) \\ & \times \left\{ 2(e^{-\mu z} - e^{-\eta_i z}) - e^{-kt\eta_i^2 + kt\mu^2 - \mu z} \operatorname{Erfc} \left( \mu \sqrt{kt} - \frac{z}{2\sqrt{kt}} \right) \right. \\ & + e^{-kt\eta_i^2 + kt\mu^2 + \mu z} \operatorname{Erfc} \left( \mu \sqrt{kt} + \frac{z}{2\sqrt{kt}} \right) \\ & + e^{-\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} - \frac{z}{2\sqrt{kt}} \right) - e^{\eta_i z} \operatorname{Erfc} \left( \eta_i \sqrt{kt} + \frac{z}{2\sqrt{kt}} \right) \left. \right\} \\ & + \frac{2f_0 z}{a\eta_i(2kt+1)^{\frac{3}{2}}} \cdot e^{-kt\eta_i^2 - \frac{z^2}{2(2kt+1)}} \left. \right] \dots \dots \dots \dots \dots \dots \dots \dots (6.1) \end{aligned}$$

where the sum is to be taken over the positive roots of (3.5) and  $\rho \geq 1, \sigma \geq 2$ .

## 7. VERIFICATION OF THE SOLUTION (6.1)

On substituting the value of  $\theta(r, z, t)$ , obtained in (6.1), in (1.2) and making use of (3.6), we see that (1.2) is satisfied. Also, from (6.1), we see that when  $z = 0$ ,  $\theta = \theta_0$  and when  $t = 0$ ,  $\theta = f_0 z e^{-\frac{1}{2}z^2}$  since when  $z > 0$ ,  $\operatorname{Erfc}\left(\frac{z}{2\sqrt{kt}}\right) \rightarrow 0$  and  $\operatorname{Erfc}\left(-\frac{z}{2\sqrt{kt}}\right) \rightarrow 2$  as  $t \rightarrow 0+$  (McLachlan (1962)). The solution (6.1) is thus completely established.

## ACKNOWLEDGEMENTS

The author wishes to express his sincere thanks to Prof. C. B. Rathie for his kind help and guidance during the preparation of this paper. He is also grateful to Prof. P. L. Bhatnagar and Dr. K. C. Gupta for their encouragement.

## REFERENCES

- Bajpai, S. D. (1968). Use of Gauss' hypergeometric function and Meijer's  $G$ -function in the production of heat in a cylinder. *Proc. Camb. phil. Soc.*, **64**, 1049-54.
- (1969). Associated Legendre functions and heat production in a cylinder. *Proc. natn. Inst. Sci. India*, A **35**, 366-74.
- Bhonsle, B. R. (1966). Jacobi polynomials and heat production in a cylinder. *Mathematica jap.*, **11**, 83-90.
- Braaksma, B. L. J. (1963). Asymptotic expansions and analytic continuations for a class of Barnes integrals. *Compositio math.*, **15**, 239-341.
- Erdélyi, A. (1953). Higher Transcendental Functions, Vol. 1. McGraw-Hill Book Co., Inc., New York, p. 207.
- (1954a). Tables of Integral Transforms, Vol. 1. McGraw-Hill Book Co., Inc., New York, pp. 63, 65, 72, 73, 74.
- (1954b). Tables of Integral Transforms, Vol. 2. McGraw-Hill Book Co., Inc., New York, pp. 434-39.
- Fox, C. (1961). The  $G$ - and  $H$ -functions as symmetrical Fourier kernels. *Trans. Am. math. Soc.*, **98**, 408.
- Luke, Y. L. (1969). The Special Functions and their Approximations, Vol. 1. Academic Press, Inc., New York, p. 144.
- McLachlan, N. W. (1962). Modern Operational Calculus, 2nd ed. Dover Publications, New York, p. 65.
- Rainville, E. D. (1963). Special Functions. The Macmillan Company, New York, p. 104.
- Sharma, O. P. (1969).  $H$ -function and heat production in a cylinder. *Proc. natn. Acad. Sci. India*, **39**, 355-60.
- Sneddon, I. N. (1951). Fourier Transforms. McGraw-Hill Book Co., Inc., New York, pp. 83, 182.